Nedes on erors and yneclainkie<

average your Yhiee eccois ‘|00 ¥ (q'anﬁ\c" 9 ) **+ 9
—qr
160 (qav«jle- 9’0"‘”) 2
9}()4;1

uncertainty on alerage exioc is  0Jp=
Rlso, every + in the Jextand tubles should have an uncert.
€. . ~ 05nC I '
9 G pmi . has uncert of 3.5n based on [i.u;l-):ﬁr;:jai‘—\r

Ch 05 prackce  Roppsidely charge balls, of magnitude 720n0C

Theres an extemal Field £
L L exy
Ov\@le 8=63.0° L.=0.530m

ﬁr m=b.50 mg
q'\> luhich )SPOS"‘HW—? --F;('M'l\cu\E= ?’Eekaa\ D lef+ \OA'H 1S+
B) What \SE
F f 2 = mg=Tcos & T= ma
£<_+ —’a-r‘_:c_ él F/ Cz 3 © 2 =1 cos O
< i~
Nla where 5'(‘%:3/)—
ZF.=0

=
L L?ra +Tsing - =0

- Kg® + mq tan 9/3
2L SN 8L) J
g

Moce (Gauss' Law

—E

eyavn,gk sdlid Cm\duc+'n3 Sf)hem mside a v’lon~(ar\olucﬁnj shell
with c\\arae unﬁ?o\'m\\{ distnbute d %You\j)\ou'\""hﬁ shell
a\ riQ



7/

-Q 20 Qenel =6 = =0
a L> a<reh Qmel =A@ — E= K2Q

\,a
A ¥yl Qenel = H& DE=KG
o= g
(e}
.-s-‘,"

Qac = 3Q +(Faction of - Q)
= Q+4T (>- b’)(—- G(B

1z -6
jEdﬁz Efred = @)

n
D

(o}

> ek - 222 ]

Cod-b>

E/}\ S~

X

e »b c ~ ¥
What 1§ the

Shell were conolucting ?
d) berec

We need E=0 inside +he shell
= Repe) = O >need -2Q on inper surface oF shell

= 4] @ on auder surfae
E/F N

b ¢ Y—



